MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474

BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

Greenheck Fan Corporation

P.O. Box 410

Schofield, WI 54476

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform
in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. RER reserves the right
to revoke this acceptance if it is determined by Miami-Dade County Product Control Section that this product
or material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series R, FGI and FGR Steel/Aluminum Rooftop Fans

APPROVAL DOCUMENT: Drawing No. HR2001 to HR2009, titled “R, FGI and FGR Series”, sheets 1
through 9 of 9, dated 05/22/2019, prepared by Greenheck Fan Corporation, signed and sealed by Wayne K.
Helmila, P.E. on 10/23/2023, bearing the Miami-Dade County Product Control revision stamp with the
Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Section.
MISSILE IMPACT RATING: Large and Small Missile Impact Resistant (Steel Fans Only)
LABELING: A permanent label with the manufacturer's name or logo, Schofield, WI or Saltillo, Coahuila,
Mexico, model/series, and following statement: "Miami-Dade County Product Control Approved", is to be
located on each unit.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews and revises NOA # 22-0606.01 and consists of this page 1 and evidence pages E-1, E-2,
E-3 and E-4, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

%‘ NOA No. 23-1122.03

e 01/09/24 Expiration D N ly 8, 2029
xpiration Date: July 8,

Approval Date: January 18, 2024

Page 1



Greenheck Fan Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence submitted under previous NOA’s

A. DRAWINGS “Submitted under NOA #09-0511.03”
1. Drawing No. HR2001 to HR2007, titled “R Series Units, FGI and FGR”, sheets 1 through 7
of 7, dated 02/24/2009, 02/03/09, 02/05/2009 and 03/09/2009, prepared by Greenheck Fan
Corporation, signed and sealed by L. David Rice, P.E.

B. TESTS “Submitted under NOA# 09-0511.03”
1. Test report on 1) Uniform Static Air Pressure Test per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94,
3) Cyclic Wind Pressure Test per FBC, TAS 203-94,
along with marked-up drawings and installation diagram of Galvanized Steel R-Series Hooded
Rooftop Ventilating Fans, prepared by Architectural Testing, Inc., Test Report No. 88031.01-
602-18, dated 03/20/2009, signed and sealed by Joseph A. Reed, P.E.
2. Test report on 1) Uniform Static Air Pressure Test per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94,
3) Cyclic Wind Pressure Test per FBC, TAS 203-94,
along with marked-up drawings and installation diagram of Aluminum R-Series Hooded
Rooftop Ventilating Fans, prepared by Architectural Testing, Inc., Test Report No. 88800.01-
602-18, dated 03/20/2009, signed and sealed by Joseph A. Reed, P.E.

C. CALCULATIONS “Submitted under NOA #09-0511.03”
1. Anchoring verification calculations, prepared by Rice Engineering, dated 04/30/2009, signed
and sealed by L. David Rice, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS “Submitted under NOA #16-0209.03”
1. Statement letter of code conformance to 5™ edition (2014) FBC issued by Rice Engineering,
dated 01/04/2016, signed and sealed by L. David Rice, P.E.

“Submitted under NOA #14-0513.10”
2. Statement letter of code conformance to 2010 FBC issued by Rice Engineering, dated
04/30/2014, signed and sealed by L. David Rice, P.E.

“Submitted under NOA #09-0511.03”
3. No financial interest letter issued by Rice Engineering, dated 04/28/2009, signed and sealed by

L. David Rice, P.E. z

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 23-1122.03

Expiration Date: July 8, 2029
Approval Date: January 18, 2024



Greenheck Fan Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. Evidence submitted under NOA # 19-0808.02

A. DRAWINGS
1. Drawing No. HR2001 to HR2008, titled “R, FGI and FGR Series”, sheets 1 through 8 of 8,
dated 02/24/2009, 02/03/2009, 02/05/2009 and 03/09/2009 and 05/22/2019, prepared by
Greenheck Fan Corporation, signed and sealed by Wayne K. Helmila, P.E. on 08/28/2019.

B. TESTS
1. Test report on 1) Uniform Static Air Pressure Test per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94,
3) Cyclic Wind Pressure Test per FBC, TAS 203-94,
along with marked-up drawings and installation diagram of a RBE-2H48 Galvanized Steel
Rooftop Hooded Ventilating Fan with a GPF Curb, prepared by Quast Consulting & Testing,
Inc., Test Report No. QCT19-5300.01-R1, dated 08/26/2019, signed and sealed by Brian M.
Sasman, P.E.
2. Test report on 1) Uniform Static Air Pressure Test per FBC, TAS 202-94
2) Cyclic Wind Pressure Test per FBC, TAS 203-94,
along with marked-up drawings and installation diagram of a RBE-2H48 Aluminum Rooftop
Hooded Ventilating Fan with a GPF Curb, prepared by Quast Consulting & Testing, Inc., Test
Report No. QCT19-5300.02-R1, dated 08/26/2019, signed and sealed by Brian M. Sasman,
P.E.

C. CALCULATIONS
1. Anchoring verification calculations prepared by Rice Engineering, dated 07/22/2019, signed
and sealed by Wayne K. Helmila, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS

1. None.
F. STATEMENTS
1. Statement letter of code conformance to 6™ edition (2017) FBC issued by Rice Engineering,
dated 07/26/2019, signed and sealed by Wayne K. Helmila, P.E.
2. No financial interest letter issued by Rice Engineering, dated 08/28/2019, signed and sealed by
Wayne K. Helmila, P.E.
3. Distributor agreement dated 08/28/2019.

e

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 23-1122.03

Expiration Date: July 8, 2029
Approval Date: January 18, 2024



Greenheck Fan Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. Evidence submitted under NOA # 21-1122.09

A. DRAWINGS
1. Drawing No. HR2001 to HR2008, titled “R, FGI and FGR Series”, sheets 1 through 8
of 8, dated 01/10/2022, prepared by Greenheck Fan Corporation, signed and sealed by
Wayne K. Helmila, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. Anchoring verification calculations prepared by Rice Engineering, dated 10/18/2021,
signed and sealed by Wayne K. Helmila, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to 7™ edition (2020) of the FBC, issued by Rice
Engineering, dated 10/25/2021, signed and sealed by Wayne K. Helmila, P.E.

i

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 23-1122.03

Expiration Date: July 8, 2029
Approval Date: January 18, 2024



Greenheck Fan Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

4. Evidence submitted under NOA # 22-0606.01 and new

A. DRAWINGS
1. Drawing No. HR2001 to HR2009, titled “R, FGI and FGR Series”, sheets 1 through 9
of 9, dated 05/22/2019, prepared by Greenheck Fan Corporation, signed and sealed by
Wayne K. Helmila, P.E. on 10/23/2023.

B. TESTS
1. None.

C. CALCULATIONS “Submitted under NOA # 22-0606.01”
1. Anchoring verification calculations prepared by Rice Engineering, dated 07/08/2022,
signed and sealed by Wayne K. Helmila, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS

1. Statement letter of code conformance to 8™ edition (2023) of the FBC, issued by Rice
Engineering, dated 10/24/2023, signed and sealed by Wayne K. Helmila, P.E.
2. Statement letter of no financial interest, issued by Rice Engineering, dated 10/24/2023,

signed and sealed by Wayne K. Helmila, P.E.
“Submitted under NOA # 22-0606.01”

3. Statement letter of code conformance to 7™ edition (2020) of the FBC, issued by Rice
Engineering, dated 07/08/2022, signed and sealed by Wayne K. Helmila, P.E.

e

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 23-1122.03

Expiration Date: July 8, 2029
Approval Date: January 18, 2024



REVISION DER BY DATE

PRODUCT REVISED UPDATE SHEET NO. IN TITLE BLOC DFY| 842

as complying with the Florida
Building Code

NOTES:
NOA-No. 23-1122.03 1. GALVANIZED INSTANCES OF MODELS RE, RS, RCE, RCS, RBE, RBS, RBF,
L 07/08/2029 RBCE, RBCS, AND RBCF HAVE BEEN SUCCESSFULLY TESTED N
Expiration Date ACCORDANCE WITH MIAMI—DADE TEST PROTOCOLS TAS—201 (LARGE MISSILE
7 IMPACT), TAS—202 (STATIC LOADING), AND TAS-203 (CYCLIC WIND
HINGE BRACKET (QTY. 4 PER HOOD By £ LOADING). ALUMINUM INSTANCE OF ABOVE STATED MODELS HAVE

ASSEMBLY (REF. SHEET HR2003)

SUCCESSFULLY TESTED IN  ACCORDANCE WITH  MIAMI—DADE  TEST
PROTOCOLS TAS—202 (STATIC PRESSURE) AND TAS—203 (CYCLIC WIND
LOADING).

Miami-Dade Product Control

HOOD PANEL (QTY.= HOOD LENGTH

DVIDED BY 12, REF. SHEET HR2003) 2, ROOF STRUCTURE MUST BE DESIGNED TO WITHSTAND THE WEIGHT AND

LOADING TRANSMITTED BY ROOF TOP FANS. FASTENERS SHALL BE AS
END PANEL/HOOD PANEL CRIMPS (8 SPECIFIED AND INSTALLED AS DETAILED.

5/16—18x3/4 ZP NUT/BOLT PER CONNECTION @ EACH END)

(2 PER HINGE BRACKET) 3. DESIGN, TESTING, AND INSTALLATION CONFORMS TO FLORIDA BUILDING

CODE.

4, DESIGN PRESSURE = 70 PSF FOR STEEL (LARGE MISSILE IMPACT
HOOD RAIL, 2 REQ'D PER RESISTANT) AND +£40 PSF FOR ALUMINUM.

HOOD (REF. SHEET HR2003) 5. TESTED FOR AREAS INCLUDING HIGH VELOCITY HURRICANE ZONES.

6. THESE FANS HAVE NOT BEEN TESTED FOR WIND-DRIVEN RAIN TESTING
PER FLORIDA BUILDING CODE, TAS—100(A)—95.

7. THIS APPROVAL IS FOR THE STRUCTURAL CAPACITY AND IMPACT RATING OF
THE EXTERIOR HOUSING ONLY, IT DOES NOT INCLUDE ANY INTERIOR

\ ' ' MECHANISM OR ELECTRICAL COMPONENT.

5/16—18 PALNUT ON END HOOD PANEL, 2 PER HOOD

DOOR PANEL (QTY. 2) ASSY (REF. SHEET HR2003) EXHAUST/SUPPLY RE, RS, RCE, RCS, RBE, RBS, RBF, RBCE, RBCS, RBCF

DIAGONAL BRACE, 4 REQ'D PER N R L D ST ey APPROX. WEIGHT (LBS.)
5/16-18x1 ZP TC SCREWS UNIT (REF. SHEET HR2004) SEE 4200 - 4-8800 2 28C25 stzs 13Eoo 10Foo SES_ Aujhsdg\‘UM

(NOTED POINTS "A”") HOOD SUPPORT BASE CHANNEL, 2 REQ'D 20 ] 50.00 | 50.00 | 48.00 | 48.00 | 30.25] 30.25 | 16.00 | 11.00 | 220 190

PER UNIT (REF. SHEET HR2004) 54| 62.00 | 62.00 | 60.00 | 60.00 | 34.25| 34.25 | 18.00 | 11.00 | 260 325

) 307 71.00 | 74.00 | 72.00 | 8400 | 40.25 | 40.25 | 20.00 | 14.00 | _ 295 250

BASE HOUSING PANEL, 4 REQD 36 ] 84.00 | 90.00 | 84.00 | B84.00 | 46.25| 46.25 | 22.00 | 17.50 340 290

ACCESS DOOR (QTY. 1 WHEN PER UNIT (REF. SHEET HR2004) 42 | 86.00 | 93.00 | 96.00 | 96.00 | 52.25 | 52.25 | 24.00 | 18.50 165 395

TALL BASE OPTION SELECTED) 48 | 8B.00 | ——— | 12000 | ——— | 58.25| 58.25| 24.00 | 22.00 866 551

DAMPER/CURB TRAY SIDE, 2
REQ'D (REF. SHEET HR2004)
DAMPER/CURS TRAY END, 2
REQ'D (REF. SHEET HR2004)
"B" = HOOD LENGTH

"A" = HOOD WIDTH
RICE B

SIZE 18-24 UNITS USE ZP SPNLK 5/16—18x3/4
105 S f[fg{é\gfﬁl:{NG BOLT/NUT CONNECTIONS
Luxemburg, W1 54217 SIZE 30-42 UNITS USE ZP SPNLK 3/8-18x3/4
Phone: (920) 617-1042 BOLT/NUT CONNECTIONS
Fax: (920) 617-1100
www.rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #3090
Wayne K. Helmila
Registration No: 59092

h Yy Ly
0CT 2
o o o
° SMS, #12)(3/4 IHWH W/NEO WASHER ZP (TYPA
ALL HOUSING TO HOOD RAIL CONNECTlONS)
°0 . GALV. UNITS USE ZP 5/16—18><5/8 TCS, (TYP. ALL BASE
BOLT,SPNLK 5/16—18)(3/4 7P AND 5/16—16 7p . o - o o HOUSING PANEL TO BASE HOUSING PANEL CONNECTiONS)
NUT (TYP. ALL DIAGONAL BRACE CONNECTlONS) = o a

BOLT,SPNLK 5/16—18x3/4 ZP AND 5/16~16 ZP

ALL DIMENSIONS ARE IN INCHES

S El oo

°
°

- TG BT s}

6.00 MAX 0.C. (REF.
4>‘ loHRzoog FOR DETALS) . / NUT (TYP. ALL DIAGONAL BRACE CONNECTIONS)

a e [ ) o 3 o e o

[%:72 GREENHECK Ltz

POOX 410 SCHIFIELD, VISCINSIN S4476-0410
5/22/2019
RIEY

_‘4 |, 5.00 MAX (TYP. F——‘-"D" — THROAT LENGTH
AL CORNERS) R SERIES UNITS -

o "C” = THROAT WIDTH ———mt SHEET 1 OF 9 S—ves:

HR2001



utrera
New Stamp


PRODUCT REVISED

as complying with the Florida

Building Code 4.00 (TYPICAL FROM HOOD
NOA-Ne.  23-1122.03 PANEL WIDTH CENTER)
Expiration Date 07/08/2029

p
oy SUPPORT HAT CHANNEL

Miami-Dade Product Control

(LENGTH OF HOOD)

#12—-14x1 TEK SCREW, ZP W/NEOPRENE WASHER (QTY.
4 PER HOOD RIB MULLION — HOOD TO SUPPORT HAT
CHANNEL CONNECTION

5/16—18x1" HWH TC SCREW, QTY. 2 (TYP. BOTH
DIAGONAL
SUPPORTS AS—WELL—AS BOTH HOOD ENDS)

#12-11x0.375 HWH SMS, ZP W/EPDM
WASHER (8 PER HOOD RIB TO HOOD RIB
CONNECTION — NOTED POINTS "A”)

12.00
MAX \ "
DIAGONAL SUPPORT ANGLE, QTY. " 'y A A
2 (TYP. BOTH HOOD ENDS) . B P ;
, =l
5/16—18x1” HWH TC SCREW, QTY. 2 .
(TYP. BOTH DIAGONAL SUPPORTS o
AS—WELL—AS HOOD ENDS) B
HBH
934 B ~- \ B A A
7

END HOOD PANEL SUPPORT ANGLE
(TYP. BOTH HOOD ENDS)

REVISION DR i)

2

DATE SYH

UPDATE SHEET NO. IN TITLE BLOC ory| 8421 (D

0CT 2 3 202:

g
\”B” *ALL DIMENSIONS ARE IN INCHES

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: (920) 617-1042

1/4—20x1 IHH ZP SCREWS (TYP. ALL END HOOD Fax: (920) 6171100

&
A—A: HOOD
SECTION CUT

PANEL TO DIAGONAL/END HOOD SUPPORT PARTS, Florida Firm No: F-01000005061

www.rice-inc.com

Certificate of Authorization: #3090

QTY. 3 SCREWS PER PART — NOTED POINTS "B”)  Waynek Heimia

Registration No: 59092

EXHAUST/SUPPLY: RE, RS,
RCE, RCS, RBE, RBS, RBF,
RBCE, RBCS, RBCF

UNIT | STANDARD| FILTERED
Size | HOOD HOOD
E E

18 | 23.95 —
20 | 2806 | 28.06
24 | 3425

30 | 39.16 | 40.48
36 | 4584 | 4853
42| 45.91 48.98
48 | 4898 | 57.56

12GA GALV G90 (TYP. ALL UNITS)
12GA GYNL AB0 (ALT. MATERIAL)

18.00 MAX

1.50

/‘\
EXHAUST/SUPPLY:
<> RCE, RCS, RBE, RBS, RBF,

RE, RS,

\/ 3.00 RBCE, RBCS, RBCF
' STANDARD| FILTERED
/> g,NZ’g HOOD HOOD
F F
18 44.00
20 50.00 50.00
24 62.00 62.00
30 71.00 71.00
DIAGONAL SUPPORT ANGLE 36 | 8400 | 84.00

42 82.00 82.00
48 87.00 87.00

38.00 MAX

END HOOD PANEL
SUPPORT ANGLE

12GA GALV G90 (TYP. ALL UNITS)
12GA GVNL A60 (ALT. MATERIAL)

EXHAUST/SUPPLY RE, RS,
RCE, RCS, RBE, RBS, RBF,
RBCE, RBCS, RBCF

UNIT | STANDARD] FILTERED
Size | HOOD | HOOD
G

18 47.50 ——=
20 47.50 47.50
24 59.50 59.50
30 71.50 83.50
36 83.5 83.50

12GA GALV G90 (TYP. ALL UNITS)
12GA GVNL A80 (ALT. MATERIAL)

[ 2.083

4.989

s SUPPORT HAT CHANNEL

3.000

BT

TE] GREENHECH o

30X 410 SCHOFIELD, VISCCNSIN 5447 5/22/2019
SRORETEY

TTE

R/FG SERIES UNITS o

INTERNAL STRUCTURE  lsiéS ]
SHEET 2 OF 9 HR2002



utrera
New Stamp


e 20
TYP.

TYP.

R. 8.00 (TYP.)

HOOD PANEL

e 12.00 —=

| N

HOOD PANEL PROFILE

HOOD PANEL MATERIAL

22 GA. GALV. GSO
22 GA. GVNL. A60

A

EXHAUST/SUPPLY RE, RS, RCE, RCS, RBE,
RBS, RBF, RBCE, RBCS, RBCF

STANDARD STANDARD|FILTERED
UNIT|  HOOD HOOD | HOOD
SIZE} A B B
18 | 44.00 13.00
20 | 50.00 16.00 | 16.00
24 | 62.00 18.00 | 18.00
30 [ 71.00 20.00 | 20.00
36 | 84.00 22.00 | 22.00
42 | 8200 24.00 | 24.00
48 87.00 26.50 ———

<48 UNIT S!ZE{

248 UNIT SIZE {

USED WHEN HOQD LENGTH > 72.00

12 GA. GALV. G90
12 GA. GVNL. A60
0.125 AL. 3003—-H14
12 GA. GALV. G9O
12 GA. GVNL. ABO
0.125 AL. 3003—-H14

HOOD RAIL

ENGINEERING
105 School Creek Trail
Luxemburg, Wi 54217
Phone: (920) 617-1042
Fax: {920) 617-1100
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila
Registration No: 53092

USED WHEN HOOD LENGTH <= 72.00

MATERIAL
12 GA. GALV. G390
12 GA. GVNL. A60
0.125 AL. 3003-H14

0.040 AL.

1100-H14

T

EXHAUST/SUPPLY RE, RS,
RCE, RCS, RBE, RBS, RBF,
T\ RBCE, RBCS, RBCF

Mo UNIT | STANDARD| FILTERED

Si7E | HOOD HOOD
E £

18 4750 | ——=
20 47.50 | 47.50
24 59.50 | 59.50
30 71.50 | 83.50
36 83.5 83.50
42 95.50 | 95.50
48 | 11950 | ——-

END PANEL

Wk,
e X /////

o O P
S/ON AL ‘awi\\\\\

CT 2302523

1% [ TT

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 23-1122.03
Expiration Date 07/08/2029

Byﬂé%

Miami-Dade Product Control

REVISION DR B

-3

DATE SYM

UPDATE SHEET NO, IN TITLE BLOC ory| &2 (D

END PANEL MATERIAL

18 GA. GALV. GO0
18 GA. GVNL. ABO
0.063 AL. 1100~H14

EXHAUST/SUPPLY RE, RS, RCE, RCS, RBE,
RBS, RBF, RBCE, RBCS, RBCF

STANDARD| FILTERED | STANDARD FILTERED
UNIT| HOOD HOOD HOOD HOOD

SIZE C C D D
18 48.25 13.75

20 52.25 52.25 16.75 16.75
24 64.25 64.25 18.75 18.75

30 73.25 76.25 20.75 20.75
36 86.25 92.25 22.75 22.75
42 84.25 91.25 24.75 24.75
48 89.25 ——= 27.50 ——=

HINGE BRACKET MATERIAL

11 GA. GALV. GS0

HINGE BRACKET

ALL DIMENSIONS ARE IN INCHES

i B EeH

e
/ZJE? GIRIGENFHIECK |tz |,
[ ][ easox ao somicee, viscmsin se476-0st0 5 mzzzs 2019

TITCE

R SERIES UNITS -

SHEET 3 OF 9 proes =
HR2003



utrera
New Stamp


REVISIDN DCR B

2

DATE

UPDATE SHEET NO, IN TITLE BLOC DFY| 8222

/ BASE_HOUSING PANEL MATERIAL
A 18 GA. GALV. G90

18 GA. GVNL. A60
0.063 AL. 1100-H12
0.080 AL. 1100-H12 IF G >46.00 0

HOOD SUPPORT BASE CHANNEL

HOOD SUPPORT BASE CHANNEL MATERIAL EXHAUST/SUPPLY RE, RS, RCE, RCS, ,
10 GA. GALV. G90 RBE, RBS, RBF, RBCE, RBCS, RBCF .
10 GA. GVNL. AB0
UNIT G H J 0
SIZE .
18 28.19 | 10.00 1.00
20 30.25 | 11.00 0.94
24 34.25 | 11.00 0.94
30 40.25 | 14.00 0.94
EXHAUST/SUPPLY RE, RS, 36 46.25 | 17.50 0.94
RCE, RCS, RBE, RBS, RBF, a2 5219 | 18.50 0.94
RBCE, RBCS, RBCF 48 58.68 | 36.74 0.04 , o
UNIT | STANDARD| FILTERED o,
SIZE HOGD HOOD
F F
12% g;'gg 53.50 ~
: - BASE HOUSING PANEL
24 65.50 | 65.50 o
30 7450 | 77.50 -
36 8750 | 93.50
42 8550 | 92.50
RICE - e b
ENGINEERING
ivissipnshasbloel EXHAUST/SUPPLY RE, RS,
Phone: (920) 617-1042 Eggé Rgg,cSRBg,B (i_as, RBF,
Fax: (920) 617-1100 . ;
www.rice-inc.com STANDARD/FILTERED
Florida Firm No: F-01000005061 DAMPER/CURB TRAY (SIDE) e HOOD
Certlficate of Authorization: #9090 12 GA. GALV. GS8O M
Wayne K. Helmila N 12 GA. GVNL. AB0 18 28.00
ne K, Helmi W i
Registration No: 59092 L,{,w ‘l’ 2 4 20 3000
24 34.00
30 40.00
36 46.00
00
DIAGONAL BRACE MATERIAL jé :; =
10 GA. GALY. G90 DAMPER/CURB_TRAY (END) :

10 GA. GVNL. ABO 12 GA. GALV. G90

12 GA. GVNL. A60

EXHAUST/SUPPLY RE, RS,
RCE, RCS, RBE, RBS, RBF,
RBCE, RBCS, RBCF

UNIT | STANDARD| FILTERED

5.946
1.946 {
V 5.750
size | HOOD HOOD EXHAUST/SUPPLY RE, RS, g %3
DIAGONAL BRACE s RCE, RCS, RBE, RBS, RBF, \}( 5.750
RBCE, RBCS, RBCF -
20

o ONIT STANDARD /FILTERED
HOOD
30 23.27 SIZE L
36 25.27 27.81 8 16.11
42 26.62 27.08 20 18.11 PRODUCT REVISED
48 27.75 -——= 24 22.11 as complying with the Florida
30 28.11 Building Code
3% =411 NOA-No. 23-1122.03 ALL DIMENSIONS ARE IN INCHES
42 40.11 Expiration D 07/08/2029 ] e i
48 46.11 xpiration Date = o= CL GREENHECK |«
/ 7] eoaue i sooriecn, wiscasie seseom T 700 72019
By K e NPT
Miami-Dade Product Control R SERIES UNITS e

SHEET 4 OF 9 SRS
HR2004



utrera
New Stamp


REVISICN IR k)

2

DATE

UPDATE SHEET NO, IN TITLE BLOC DFY| 5522

RIVET, .188 STEEL DOME HD FOR
GALV. AND GALV. HOODS RIVET

NOTES:

1. GALVANIZED INSTANCES OF MODELS FGI AND FGR HAVE BEEN

SUCCESSFULLY TESTED IN ACCORDANCE WITH MIAMI—DADE TEST

PROTOCOLS TAS—201 (LARGE MISSILE IMPACT), TAS—202

END PANEL (STATIC LOADING), AND TAS—203 (CYCLIC WIND LOADING).

2 REQ'D. PER UNIT ALUMINUM INSTANCES OF THE ABOVE STATED MODELS HAVE

SEE SHEET HR2006 BEEN  SUCCESSFULLY  TESTED  IN  ACCORDANCE  WITH

MIAMI—DADE TEST PROTOCOLS TAS—202 (STATIC LOADING) AND
TAS—203 (CYCLIC WIND LOADING).

HOOD PANEL
QTY. = HOOD LENGTH DIVIDED BY 12
SEE SHEET 3 OF 8

RIVET, .313 X .563 PRODUCT REVISED

FH SLD ZpP as complying with the Florida 2. ROOF STRUCTURE MUST BE DESIGNED TO WITHSTAND THE
NOA_Nﬂ_ 531122 .03 WEIGHT AND LOADING TRANSMITTED BY ROOF TOP FANS.
FASTENERS SHALL BF AS SPECIFIED AND INSTALLED AS
Expiration Date 07/08/2029 DETAILED.
e
By / 3. DESIGN, TESTING, AND INSTALLATION CONFORMS TO FLORIDA
Miami-Dade Product Control BUILDING CODE.

DIAGONAL BRACE (4 REQ'D. PER UNIT WHEN 4, DESIGN PRESSURES = +70 PSF FOR STEEL (LARGE MISSILE
HOOD WIDTH — THROAT WIDTH > 32.00 IMPACT RESISTANT) AND +40 PSF FOR ALUMINUM.

HOOD RAIL SEE SHEET HR2007)
2 REQ'D. PER UNIT
2 REQD. PER UNT SR ,‘; 5. ;E)?\JTEESD FOR AREAS INCLUDING HIGH VELOCITY HURRIANCE

HOOD SUPPORT BASE CHANNEL (2
REQ'D. PER UNIT SEE SHEET HR2007)

6. THESE FANS HAVE NOT BEEN TESTED FOR WIND-DRIVEN RAIN

REINFORCING PLATE (4 REQ'D. PER UNIT TESTING PER FLORIDA BUILDING CODE TAS—100(A)~95.

WHEN HOOD WIDTH — THROAT WIDTH
BASE END > 32.00 SEE SHEET HR2007) 7. THIS APPROVAL IS FOR THE STRUCTURAL CAPACITY AND IMPACT

2 REQ'D. PER UNIT RATING OF THE EXTERIOR HOUSING ONLY, T DOES NOT
SEE SHEET HR2007 INCLUDE ~ ANY  INTERIOR MECHANISM OR ELECTRICAL
COMPONENTS.

HINGE BRACKET
4 REQ'D. PER UNIT
SEE SHEET HR2003

BASE HOUSING PANEL
2 REQ'D. PER UNIT
SEE SHEET HR2007

RIVET, .250 X .313 8. FGI THROAT = MIN. 8.00x8.00 AND MAX. 54.00x54.00
OVAL/HD SEMI TUBULAR FGR THROAT = MIN. 8.00x8.00 AND MAX. 66.00x66.00

91.00 MAX. 96.00 MAX.

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: (920) 617-1042
Fax: (920) 617-1100
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila
Registration No: 59092

23.50 MAX.

SMS, 12. X 3/8
IHH NEOW WA ZP ° o

12.00 MAX.

BOLT, SPNLK 3/8-16 X 3/4 ZP

BOLT, SPNLK 1/4-20 X 1/2 ZP o [e]
NUT, SPNLK 3/8-18 ZP

NUT, SPNLK 1/4-20 ZP

42

ﬁ\ ALL DIMENSIONS ARE IN INCHES
ls——— THROAT WIDTH MAX. 66.00 ——= ls—————— THROAT LENGTH MAX. 66.00 —————c=
CURB MAX. 72.00 CURB MAX. 72.00 D] GREENEECH [yaoven]
{7‘)[7 ¥

PLBOX 410 SCHIFIELD, VISCCNSIN 54476-0410 0%03 2009
TPERSETES

T

EAE

FGI & FGR SERIES

SHEET 5 OF 9 proew
HR2005



utrera
New Stamp


REVISION DCR k)

-3

DATE

UPDATE SHEET NO. IN TITLE BLOC DFY| 337

o 25
TYP.
f=—12.00 ——=
R. 8.00 n_ |
TYP.
12 .00 MAX. HOOD PANEL PROFILE
2 BEND HOOD PANEL
USED WHEN HOOD WIDTH IS <= 36.00
L HOOD WIDTH >]
36.00 MAX. HOOD PANEL MATERIAL
N 22 GA. GALV. GS0O
5.000 22 GA. GVNL. AB0
TYP. 0.040 AL. 1100-H14

20.000C°
TYP.

5 BEND HOOD PANEL
USED WHEN HOOD WIDTH IS > 36.00

END PANEL MATERIAL

‘ HOOD WIDTH 18 GA. GALV. G90
91.00 MAX. A 18 GA. GVNL. ABO
> 0.063 AL. 1100—H14
HOOD PANEL
RICE END PANEL
ENGINEERING 00
105 School Creek Trail 72'
Luxemburg, Wi 54217 f 7
o (620, 6171100 ! PRODUCT REVISED
oty MAR . as complying with the Florida
) . L 40 Building Code
Florida Firm No: F-01000005061 £ HTE 'C Ggo 9
Certificate of Authorization: #9080 . wr M/f Go‘ﬁl« A NOA-No. 23-1122.03
Wayne K. Helmil 6 o
H:g;lig:-ationeNrS! 59092 Us 12 o Expiration Date 07/08/2029
p
By £
Miami-Dade Product Control
<
(™)
%

HINGE BRACKET MATERIAL
11 GA. GALV. G90

HINGE BRACKET

ALL DIMENSIONS ARE IN INCHES

\ 812 =>4

- : [ ] GREENHECK  Lanoucs ],
(1/9?/ ik D PO.SOX 410 SCHOFIELD, VISCONSIN S4476-0410 02“‘2;3 2009
HOOD RAIL FGl & FGR mv ”
SHEET 6 OF 9 i
HR2006



utrera
New Stamp


HOOD SUPPORT BASE CHANNEL

HOOD SUPPORT BASE CHANNEL MATERIAL

10 GA. GALV. G90
10 GA. GVNL. ABO

EXHAUST/SUPPLY RE, RS,
RCE, RCS, RBE, RBS, RBF,
RBCE, RBCS, RBCF
UNIT | STANDARD| FILTERED
SIZE HOOD HOOD
F F
18 47.50
20 53.50 53.50
24 65.50 65.50
30 74.50 77.50
36 87.50 93.50
42 85.50 32.50
48 30.50 ——

DIAGONAL BRACE MATERIAL

10 GA. GALV. GS0O
10 GA. GVNL. ABO

DIAGONAL BRACE

USED WHEN HOOD WIDTH — THROAT WIDTH >

32.00

BASE HOUSING MATERIAL

18 GA. GALV. GSO0
16 GA. GVNL. A60O
0.063 AL. 1100-H14

BASE SIDE

REVISION DR BY DATE SYH

UPDATE SHEET N IN TITLE BLOC ory| 32 (O

Ve

BASE END

M FER /\Q /,\ X
WAV gs) M
G AG
50 , P .
RICE o1
ENGINEERING 5
105 School Creek Trail
Luxemnburg, WI 54217 @
Phone: (920) 617-1042 .
Fax: (920) 617-1100 p l/
www.rice-inc.com 0
Florida Firm No: F-01000005061 5 00
Certificate of Authorization: #9090 s ’

Wayne K. Heimila
Registration No: 59092

REINFORCING PLATE

USED WHEN HOOD WIDTH — THROAT WIDTH >
32.00

4
11-9 REINFFORCING PLATE MATERIAL

12 GA. GALV. GSO
12 GA. GVNL. A60

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 23-1122.03

Expiration Date 07/08/2029
p

By K

Miami-Dade Product Control

SE END MATERIAL
5 200 18 GA. GALV. G90

16 GA. GVNL. A80
0.063 1100—-H14

ALL DIMENSIONS ARE IN INCHES

T GREENHEGE, [
L POSIN 4i0 SCHFIELD, VISCENSIN $476-040 |y D;j 2009
FGI & FCR -
SHEET 7 OF 9 R TRRIRG o 5]
HR2007



utrera
New Stamp


o R—SERIES SHOWN BELOW. FGI/FGR MODELS ARE SIMILAR.
o SECTION CUTS SHOW MULTIPLE OPTIONS FOR
o DETAILS ARE NOT DRAWN TO SCALE.

ILLUSTRATIVE PURPOSES.

EQUALLY
SPACED

MINIMUM NUMBER OF
FASTENERS (SEE TABLE)

ROOF CURB

OPTION #2

#1/2" THRU—BOLT WITH WASHERS AND

FULLY THREADED NUT

1—1/2" MIN. EDGE DISTANCE

4" MIN. END DISTANCE

MATERIAL: SEE TABLE FOOTNOTE #1

QUANTITY: SEE TABLE

USE 2"x2"x3/16"
STEEL WASHER OR
EQUIVALENT BACKER
PLATE

OPENING FOR ILLUSTRATIVE PURPOSES

_

TIMBER ANCHORING

REVISICH

DCR )

4

DATE SYH

UPDATED CHART FORMAT TO EXCEL

1074
NaH| 525l (B

3—1/4" MIN. PENETRATION INTO WOOD
MIN. 2—1/4" LONG THREADS, FULLY ENGAGED

" UNTREATED, MIN. G = 0.42

g
/{;l l<x——~——1—1/2" MIN. EDGE DIST.

GALVANIZED

GALVANIZED

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: (920) 617-1042
Fax: (920) 617-1100
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila

Registration No: 59092

PRODUCT REVISED
as complying with the Florida
Building Code

S€77.0” MAX. DIST.

FROM VERTICAL

FACE OF CURB NOA-No. 23-1122.03
Expiration Date 07/08/2029

/7

By J&

Miami-Dade Product Control

TIMBER STEEL DECK COMCRETE
N size | 2PTION £ {LAG SCREWS)| OPTION #2 (THRU BOLTS] | OPTION #3 (SELF-DRILL SCREWS) | OPTION #4 (THRU BOLTS} | OPTION #5 (SCREW ANCHORS)| OPTION #6 {THRU BOLTS)
PER SIDE (4)| TOTAL{S} | PERSIDE(4}| TOTAL(S) | PERSIDE(4) TOTAL{5) |PERSIDE(4}| TOTAL(5) | PERSIDE(4) | TOTAL(S) | PERSIDE{4)| TOTAL(S}
[ 18 1 8 o 4 0 3 a 1 D 4 o 4
§ 28 1 8 1 8 1 8 1 8 1 8 1 8
%] 24 1 8 1 8 1 8 1 8 1 8 1 8
E 30 2 12 2 12 2 12 2 12 2 12 2 12
b 36 2 12 2 12 2 12 3 16 2 12 3 16
4 3 16 3 16 3 16 3 16 3 16 a 16
48 4 20 4 20 3 20 3 20 4 20 4 20
TIMBER STEEL DECK CONCRETE
THROAT SIZE | OPTION #1 (LAG SCREWS)] OPTION #2 {THRU BOLTS) | OPTION #3 (SELF-DRILL SCREWS} | OPTION #4 (THRU BOLTS) [ OPTION #5 [SCREW ANCHORS}| OPTION #6 (THRU BOLTS)
{A GIVEN SIDE} | PERSIDE(4)] TOTAL(5) | PERSIDE(4)| TOTAL(S) | PERSIDE (4} TOTAL(5) |PERSIDE(4)| TOTAL(5) | PERSIDE{4) | TOTAL(S] | PERSIDE(4j| TOTAL{5)
_ | saam i 3 1 8 1 8 1 8 1 8 1 3
= 9| zam" 2 12 2 12 3 16 2 12 2 12 2 12
hrd 554" 2 13 3 16 3 16 2 12 2 12 2 12
266" 2 12 3 16 4 20 2 12 2 12 2 12

TABLE NOTES:

1} UNLESS NOTED, ANCHORS ARE TO BE 3C0 SERIES 5.5. COMD. CW [Fy=65ksi MIN.) OR ZINC-PLATED GRADE-2 STEEL (Fy=57ksi MIN.}. ZINC PLATED AMCHORS SHALL BE SEALED W/LIQUID

PROSCO FLASHING {OR SEALED WITH AN EQUAL PRODUCT} UNLESS FLASHING CAN BE PROVIDED.

2} ALL ANCHORS TO BE {NSTALLED PER THE MANUFACTURER RECOMMENDATIONS.

3} ALL ANCHOR SUBSTRATES BY OTHERS

4} CORNER FASTENERS ARE EXCLUDED FROM PER-SIDE QUANTITIES

5} EACH INSTALLTO UTILIZE FOUR {4) CORNER FASTEMERS

6) TABULATED DATA GENERATED FROM 70psf FOR GALVANIZED (40psf FOR ALUMINUM); UPLIFT AND LATERAL LOADS APPLIED INDEPENDENTLY

1/4—20 X 2" OR GREATER SELF—-DRILLING
SCREWS (8" 0.C. MAX). ZINC—PLATED FASTENERS
SHALL BE SEALED W/LIQUID PROSOCO FLASHING
(OR SEALED WITH AN EQUAL PRODUCT).

ROOF CURB MODELS SD, SDP, GPF, OR
EQUIVALENT (18GA GALV, 24" MAX HEIGHT
WELDED CONSTRUCTION OR 0.063" THICK
ALUMINUM, 24" MAX HEIGHT).

ONE FASTENER IN EACH CORNER

OPTION #3

5/16"—18 SELF—DRILLING SCREW
MIN.

1/2" OF THREADS THROUGH

0.625" MIN. EDGE DISTANCE

OPTION #1
#1/2" LAG SCREW (Fy=45ksi MIN.)

OPTION #4

81/2" THRU—BOLT WITH STANDARD

WASHERS AND FULLY—THREADED NUT
1" MIN. EDGE DISTANCE

MATERIAL: SEE TABLE FOOTNOTE #1
QUANTITY: SEE TABLE

1—-1/2" MIN EDGE DISTANCE
4" MIN. END DISTANCE
MATERIAL: SEE TABLE FOOTNOTE #1
QUANTITY: SEE TABLE
PREDRILL HOLE AS REQUIRED

300 SERIES S.S. COND, CW,; Fy=65ksi

QUANTITY: SEE TABLE

ROOF CURB—\

NOTES:

1.

GALVANIZED ROOF CURB SUCCESSFULLY TESTED IN ACCORDANCE WITH MIAMI-DADE TEST PROTOCOLS
TAS—201 (LARGE MISSILE IMPACT), TAS—202 (STATIC LOADING), AND TAS—203 (CYCLIC WIND LOADING).
ALUMINUM ROOF CURB SUCCESSFULLY TESTED IN ACCORDANCE WITH MIAMI—DADE TAS—202 (STATIC
LOADING) AND TAS—203 (CYCLIC WIND LOADING).

ROOF STRUCTURE MUST BE DESIGNED TO WITHSTAND THE WEIGHT AND LOADING TRANSMITTED BY ROOF
TOP FANS. FASTENERS SHALL BE SPECIFIED AND INSTALLED AS DETAILED.

DESIGN PRESSURE =
ALUMINUM.

+70 PSF FOR STEEL (LARGE MISSILE IMPACT RESISTANT) AND +40 PSF FOR
TESTED FOR AREAS INCLUDING HIGH VELOCITY HURRICANE ZONES.

AS WITH THE FANS, THE ROOF CURB HAS NOT BEEN TESTED FOR WIND-DRIVEN RAIN TESTING PER
FLORIDA BUILDING CODE TAS—100(A)—95.

OPENING FOR ILLUSTRATIVE

PURPOSES OPTION 5
$3/8" HILTI KWIK HUS-EZ SS316
ROOF CURSB CONCRETE SCREW ANCHOR

3—1/4" MIN. EMBEDMENT
2" MIN. EDGE DISTANCE
8"MIN. SPACING
MATERIAL: 316 STAINLESS STEEL
QUANTITY: SEE TABLE
INSTALL: SEE TABLE FOOTNOTE #2

OPTION #6
21/2" THRU BOLT WITH WASHERS
AND FULLY THREADED NUT
2" MIN. EDGE DISTANCE
MATERIAL: SEE TABLE FOOTNOTE #1
QUANTITY: SEE TABLE

WOOD TIMBER, MIN. 4" NOM. THICKNESS

D]-—" ,AM. }
NP NORMAL WT, CRACKED
) USE 252 %3/16 /Dl LHZ" MIN. EDGE DISTANCE \ 2500 MIN. PS| CONCRETE

]
ROOF TRUSS /
1/8"THICK

VAV

STEEL WASHER OR X
EQUIVALENT BACKER PLATE MIN. 4-3/4" THICK

VB e}

OR 12 GA. MINIMUM ¢

N, HINTZ
T

STEEL ANCHORING

[}
’ CONCRETE DECK ANCHORING | {5 GREENEECK,

10/4,/2023
PERTIE

THLE

R—SERIES, FGI/FGR
CURB MOUNTING

T BRRIG TE

SHEET 8 OF 9

HR2008



utrera
New Stamp


2

DATE SR

o R—SERIES SHOWN BELOW. FGI/FGR MODELS ARE SIMILAR. PRODUCT REVISED e i

1073

o SECTION CUTS SHOW MULTIPLE OPTIONS FOR ILLUSTRATIVE PURPOSES. as complying with the Florida UPDATED CHART FORMAT 70O EXCEL NaH| gz3) (6

Building Code

o DETAILS ARE NOT DRAWN TO SCALE.

NOA-No. 23-1122.03 ALUMINUM CURB-TO-DECK MOUNTING: SYSTEM MINIMUM NUMBER OF ANCHORS TG ATTACH CURB TO STRUCTURE
Expiration Date 07/08/2029 TIMIBER STEEL DECK CONCRETE
By K%& T size LOPTION #1 (LAG SCREWS) | OPTION #2 (THRU BOLTS) | OPTION #3 (SELF-DRILL SCREWS) | OPTION #4 (THRU BOLTS) | OPTION #5 (SCREW ANCHORS}| OPTION #6 {THRU BOLTS)
Miami-Dade Product Controi 0 PER SIDE (4)| TOTAL{S} | PERSIDE[4)| TOTAL(5) | PERSIDE(4) TOTAL(S) |PERSIDE(4)| TOTAL{S) | PERSIDE({4) | TOTAL(S) | PERSIDE(4)| TOTAL{S}
= 5 18 0 4 0 4 o] 3 o 4 [s] 4 o] 4
21 5 20 0 4 0 4 0 4 0 3 0 4 o 4
= 4 24 1 8 i 8 1 8 i 8 1 g i 8
2 & 30 1 8 1 3 1 8 1 8 1 8 1 8
< :I:‘ 36 2 12 2 12 2 12 2 12 2 12 2 12
42 2 12 2 12 2 12 2 12 2 12 2 12
48 3 16 3 16 3 16 3 16 3 16 3 16
TIMBER STEEL DECK CONCRETE
s THROATSHE | OPTION #1 {LAG SCREWS}| OPTION #2 {THRU BOLTS) | OPTION #3 [SELE-DRILL SCREWS) | OPTION #4 (THRU BOLTS} | OPTION #5 (SCREW ANCHORS} | OPTION #6 {THRU BOLTS}
5| (AGIVEN SIDE} | PER SIDE(4)| TOTAL(S) | PERSIDE{4)| TOTAL(5) | PERSIDE{4) TOTALIS) |PERSIDE{4}| TOTAL({5) | PERSIDE{4) | TOTAL(5) | PERSIDE(4)| TOTAL{S)
= _ | sear 1 8 1 g 1 8 1 8 1 8 1 8
2|z 8| s 2 12 1 8 2 12 1 8 2 12 1 8
= 54" 2 12 2 12 2 12 2 12 2 12 2 12
<66" 2 12 2 12 2 12 2 12 2 12 2 12
ENGINEERING TABLE NOTES:
105 School Creek Trail 1) UNLESS NOTED, ANCHORS ARE TO BE 300 SERIES §.5. COND. CW {Fy=65ksi MIN.J OR ZINC-PLATED GRADE-2 STEEL {Fy=57ksi MiN.}. ZINC PLATED ANCHORS SHALL BE SEALED W/LIQUID
Luxemburg, Wl 54217 PROSCO FLASHING [OR SEALED WITH AN EQUAL PRODUCT) UNLESS FLASHING CAN BE PROVIDED.
Eggpgz(g)ng 7‘?]171‘3842 2) ALL ANCHORS TO BE INSTALLED PER THE MANUFACTURER RECOMMENDATIONS.
wwwrce-inG.com 3) ALL ANCHOR SUBSTRATES BY OTHERS
Florida Firm No: F-01000005061 4) CORNER FASTENERS ARE EXCLUDED FROM PER-SIDE QUANTITIES
Certificate of Authorization: #9090 5) EACH INSTALL TO UTILIZE FOUR (4) CORNER FASTENERS
Wayne K. Helmila &) TABULATED DATA GENERATED FROM 70psf FOR GALVANIZED {40psf FOR ALUMINUM); UPLIFT AND LATERAL LOADS APPLIED INDEPENDENTLY
Registration No: 59092
NOTES:
" 1. GALVANIZED ROOF CURB SUCCESSFULLY TESTED IN ACCORDANCE WITH MIAMI—DADE TEST PROTOCOLS TAS--201 (I_ARGE
1/4~20 OR GREATER SELF—DRILLING
S(/DREV%/S ?6"20 C. MAX) ZINC—II;LATED FASTENERS MISSILE IMPACT), TAS—202 (STATIC LOADING), AND TAS—203 (CYCLIC WIND LOADING). ALUMINUM ROOF CURB
SHALL BE SEALED W/LIQUID PROSOCO FLASHING E(L)JAC[;EIESGSFULLY TESTED IN ACCORDANCE WITH MIAMI—DADE TAS—202 (STATIC LOADING) AND TAS—203 (CYCLIC WIND
(OR SEALED WITH AN EQUAL PRODUCT). )
2. ROOF STRUCTURE MUST BE DESIGNED TO WITHSTAND THE WEIGHT AND LOADING TRANSMITTED BY ROOF TOP FANS.
ROOF CURB MODELS SD, SDP, GPF, OR FASTENERS SHALL BE SPECIFIED AND INSTALLED AS DETAILED.
EQUIVALENT (0.063" THICK .
" FLANGE\( ALUMINUM, 24 MAX HEIGHT). 3. DESIGN PRESSURE = £70 PSF FOR STEEL (LARGE MISSILE IMPACT RESISTANT) AND #40 PSF FOR ALUMINUM.

4. TESTED FOR AREAS INCLUDING HIGH VELOCITY HURRICANE ZONES.

EQUALLY
SPACED

MINIMUM NUMBER OF
FASTENERS (SEE TABLE)

ONE FASTENER IN EACH GORNER 5. égDvngTI;I\STHFOOF(AAI;IS,gSTHE ROOF CURB HAS NOT BEEN TESTED FOR WIND—DRIVEN RAIN TESTING PER FLORIDA BUILDING

- 1.0" MAX. DISTANCE FROM
<> VERTICAL FACE OF CURB

OPTION #2 OPENING FOR ILLUSTRATIVE PURPOSES
OPTION #4 #1/2" THRU—BOLT WITH WASHERS AND
¢1/2” THRU-BOLT WITH STANDARD ,  OPTION #5 FULLY THREADED NUT ROOF CURB
WASHERS AND FULLY—THREADED NUT 5/16"~18 SELF-DRILLING SCREW 1-1/2" MIN. EDGE DISTANGE OPTION #1
1” MIN. EDGE DISTANCE MIN. 1/2" OF THREADS THROUGH 4” MIN. END DISTANCE 81/2" LAG SCREW (Fy=45ksi MIN.)
OPENING FOR ILLUSTRATIVE MATERIAL: SEE TABLE FOOTNOTE #1 0.625" MIN. EDGE DISTANCE — \ATERIAL: SEE TABLE FOOTNOTE #1 3—1/4" MIN. PENETRATION INTO WOOD
PURPOSES QUANTITY: SEE TABLE 300 SERIES S.5. COND. CW; Fy=65ksi QUANTITY: SEE TABLE MIN. 2—1/4" LONG THREADS, FULLY ENGAGED
QUANTITY: SEE TABLE 1-1/2" MIN EDGE DISTANCE
USE 2"x2"x3/16" 4" MIN. END DISTANCE
ROOF CURS OPTION_#5 ROOF CURS STEEL WASHER OR MATERIAL: SEE TABLE FOOTNOTE #1
$3/8" HILTI KWIK HUS—EZ $3S316 CONCRETE EQUIVALENT BACKER QUANTITY: SEE TABLE
) OPTION #6 SCREW ANCHOR PLATE PREDRILL HOLE AS REQUIRED
#1/2" THRU BOLT WITH WASHERS 3—1/4" MIN. EMBEDMENT
2" MIN. EDGE DISTANCE 8"MIN. SPACING WOOD TIMBER, MIN. 4" NOMINAL
MATERIAL: SEE TABLE FOOTNOTE #I MATERIAL: 316 STAINLESS STEEL THICKNESS UNTREATED,
QUANTITY: SEE TABLE QUANTITY: SEE TABLE /MlNlMUM G = 042
INSTALL: SEE TABLE FOOTNOTE #2 ; i i N
— REd d s
g = ; / 1—1/2" MINIMUM
IR | K ROOF TRUSS 1/8"THICK EDGE DIST. _—
sy OR 12 GA. MINIMUM ﬁ GRIEENHECK | nanz |
USE 2”)(2”)(3/16” 2” M‘N EDGE ( ) D POBIX 410 SCHFIELD, VISCNSIN 544760410 [ 403 /9 /5303 ’
STEEL WASHER OR H>I r— : i
DISTANCE TIMBER ANCHORING R—SERIES, FGI/FGR fo
EQUIVALENT BACKER PLATE NORMAL WT, CRACKED 2500 MIN. STEEL ANCHORING CURB M'OUNT;/NG _vaRiEs _
CONCRETE DECK ANCHORING PSI CONCRETE MIN. 4—3/4" THICK SHEET 9 OF 9 HR2009



utrera
New Stamp


